oy

TI'NINT 12D 110N

‘\‘\\WS\ N Ié@ "o

A \\w\w\g\‘wﬁgﬁﬁﬁé 121 NIDN 7 W'Y

3 -




oY

TI'MIX7 12"Da 11071

?2"p21 nid_N" 1Inn

TAIY TIR? »
NXP "N 719'0 )

NIXRA97 NpIN »
Code reuse -

NI 7R 20T o
NI'Y71191 DINYNT? DY NIYAYN NINY »
TIV'N )
NI'¥I1IZ -D'AD0IN 07702 NNy »
21T TR »

[ 72



?7Tn'71 Nn

1121 TIp na'nd7? PEP8 "7 »

NI'X197 TIg NRI7N H»
assert"'v Tig np'1a »




oY

TI'MIX7 12"Da 11071

PEP8 n'xiaa;z

1121 NI2DN7 0'770 INN'S D'01IN 0'NI1DNN »
D'AX] NY'I1IN2 O'v"onN ©
D'NN 7Y TIZ DIXNP 7V 09 ©
QAIN0IY TIR 702 07702 wiIn'y 7Y waT 0'Wl nnyn »
'0'770N N'Ynn >
» www.cyber.org.il/networks /PEP8.pdf

» http://pep8online.com

I 1%
PEPS IS MOREWHAT YOU'D CALLY
_"GUIDELINESZTHAN ACTUAL RULES

[ 72



http://www.cyber.org.il/networks/PEP8.pdf
http://www.cyber.org.il/networks/PEP8.pdf
http://www.cyber.org.il/networks/PEP8.pdf
http://pep8online.com/
http://pep8online.com/
http://pep8online.com/

oAy
e Vo mn PyCharm— PEP8

N7¢ 02T Xi¥n? 17 nyton PyCharm ninm »
:0'77031 D' TNy

1 def main():

2 x = [1, 2, 3]

A g [|PEP 8: mtssmg whitespace around operator > =
- N o JI .

- print 'Yes'

K if (x[1] == 2):

6 print 'Yes'

[ 72



U"'":u?@
o n'waT - PEPS

(docstring) n'¥ja1o 75 n''nNa TIV'N )

def beep (boop):

mmn ',:__];—:I -t —

i |
J

(D
(D

boop """

D'VIQ/A YIN'Y »
if boop > MAX VALUE:

return

(len, min...) pn"sa n1am nmMw oNT7? X7 )
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>=>> analyze number_digits()

Please insert a 5-digits number: '7011TO 'Y ,0'AITN MY 0'Tp? »
hello

Please insert a 5-digits number:

24601

You entered the number: 24601

The digits of this number are: 2, 4.6, 0, 1

The sum of the digits is: 13
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assert

5 et v NI72% NMWOXN assert nTion »
TI72 D'AN2
@def main(): NNAIT? 7210 NT N7 >
. assert power2(x) = 9, 'x*2 = 9 NN 7Y DX Yn W np'Ta o
E] assert power?(x) == 10, 'x*2 != 10' ||7|n NI7 UI7|7 ny nLIHJD J'1|7"D o

Traceback (most t call last): NNIX ,N'X}21D v T NIYN INnYW'nN °
File "Ci/Cuperjessertoy, lime 14, in <weantes NIV [MTY NXPAIONY NXTIZ DN

FiT:iTé:l:vaberfassert.;:-',.r"', line 11, in main Ijjlnw nn
st w10 assert-n nhyo PIX »
X7 True XIn DX ,'IV'A NN ©
QT NI

NYTIN NooTIn False xin ox ©
12IN'Y NN'AY
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Eldef my div{numl, num):

FFPPFF Do d-1j

- — a4 .
= = AT T o7 AT - - = =
s " o e e i o et i ek

& return float(numl) / fleat (num2)

?assert 1y y¥a7 DN NPT 7R )

ANQ W' Y2192 N7W01 N7TAN DX - " 0 nintpn N, o
'DI NP NTNNN ,09X2 719'0 - DX "N NR'PN N7 T ©
I'PN X7 072 7W DOpPNa N2IY9 NP'TA ©

4y = 1.5, 'Diwvision error'

assert my diwvi{e,
assert my div{g, 0)
assert my div('hi', 2}
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Assert = 7'aan

NnowvYh vownNn 75 Nnannn ,abanibi nxaEN "M >
.n'assert n'7 AN ANIX 7'MyN DA

NKX NN NTAY NI'X D'Y2190 DN D'VY7 WON'7 101 »

nN'X;2119nN
def zbanibi (message) :
speclial = 'aeiou'
result = "'

for letter in message:
if letter in special:
result += letter + 'b' + letter
else:
result += letter
return result
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